BA-EHD2 Install Manual

GASKET TO SEAL
MOUNT TO WALL

BACK PLATE WITH TOP AND
BOTTOM CONDUIT FITTINGS

SCREWS SUPPLIED
4 X #8x1.5" SELF
DRILLING TYPE

MOUNTING SCREWS; SIZE, TYPE
AND LENGTH TO BEAR WEIGHT
OF CAMERA PLUS WIND AND

SNOW/ICE LOADING (4) PLACES

ARM GASKET

MOUNTING ARM

SCREW TORX M5 X 20 -3ea WITH O-RING & POINTED TIP

NOTE: DISCARD BACK BOX
SHIPPED WITH CAMERA

BACK BOX GASKET

NOTE: 4 M4 X 10 BLACK SCREWS ARE
ALSO SUPPLIED WITH THE CAMERA,
AND MAY BE USED, THOUGH SS
SCREWS ARE PREFERRED

SCREW, TH M4 X 10 - 4ea
4 - SS SCREWS SUPPLIED

TOP COVER —___

SAFETY SCREW(TORX) M4 X 12 - 4ea ‘

NOTE: THESE SCREWS ARE PART OF THE CAMERA.

SHIELD GASKET - PEEL COVER OFF
ADHESIVE AND ATTACH GASKET
TO ONE SIDE BEFORE ASSEMBLY

BACK BOX

SCREW,PH M4 X 14 - 4 SUPPLIED

154

154

Download from Www.somanuals.com. All Manuals search And Download.




Free Manuals Download Website
http://myh66.com
http://usermanuals.us

http://www.somanuals.com

http://www.4manuals.cc

http://www.manual-lib.com

http://www.404manual.com

http://www.luxmanual.com

http://aubethermostatmanual.com

Golf course search by state

http://golfingnear.com

Email search by domain

http://emailbydomain.com

Auto manuals search

http://auto.somanuals.com

TV manuals search

http://tv.somanuals.com



http://myh66.com/
http://usermanuals.us/
http://www.somanuals.com/
http://www.4manuals.cc/
http://www.manual-lib.com/
http://www.404manual.com/
http://www.luxmanual.com/
http://aubethermostatmanual.com/
http://www.golfingnear.com/
http://emailbydomain.com/
http://auto.somanuals.com/
http://tv.somanuals.com/

